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ENGLISH VERSION

Instructions : (1) Write answer of each question to the point.
(2) Figures to the right side indicate marks.
(3) Working note is part of your answer.

1  You are given following information for the year ended 20
31-03-2016 by Amir-Garib Ltd.
Profit volume ratio ............cccceee.... 50%
Rate of profit on sales .................... 25%

Total cost of present sales Rs. 9,00,000

Calculate the following :

(1) Breakeven point

(2) Profit when sales is Rs. 15,00,000

(3) Required sales to earn profit of Rs. 1,50,000.

(4) When sale is Rs. 10,00,000, Margin of safety in Rupees
and percentage.

(5) When selling price is increased by 30%, variable cost

increased by 30%, and fixed cost also increased by 335%

then calculate required sales to maintain present profit.
(6) If present selling price is reduced by 20% then calculate:
(@) New profit volume ratio.
(b) Required sales to maintain present profit.
OR
1 Cash Less Ltd. Company provides following information for 20
the period December 2016 :

Budgeted production .......................... 20,000 units
Actual production .................coeeeeen. 22,000 units
SAleS e 18,000 units
Selling price per unit .............cccccccvuunnnnn.... Rs. 120
Direct material .............................. Rs. 40 per unit
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Direct labour..........cccccooeviiieiiinn.
Factory overhead (Variable)

Fixed overhead :

Factory overhead.................................

Administrative Overhead

Selling overhead......................cccoovnnnnn.

Rs. 10 per unit
Rs. 5 per unit

Rs. 1,90,000
Rs. 60,000
Rs. 30,000

Salesman commission 10% on actual sales

Calculate profit as per :
(1) Marginal Costing method
(2) Absorbtion Costing Method.

2 A Company Manufactures three Products A,B and C 20
Production of each products is done through their independent
production process: There is no common Process and the sales
of one product does not affect on price or sales volume of any
other product.

The budgeted profit and loss abstract of the company for the

year 2016 is as follows.

Particulars A Rs. B Rs. C Rs. |Total rs.
Sales (A) 90,000 4,50,000 60,000 6,00,000
Cost _of Production (B)

Variable cost 48,000 2,88,000 24,000 3,60,000

Fixed cost 6,000 96,000 18,000 1,20,000
Total cost of production 54,000 3,84,000 42,000 4,80,000
Cost_of Selling and

Administrative (C)

Variable cost 16,200 16,200 15,600 48,000

Fixed cost 4,200 3,600 4,200 12,000
Total cost of selling and 20,400 19,800 19,800 60,000

Administrative
Total cost (D)= (B+C) 74,400 4,03,800 61,800 5,40,000

Profit (A-D) 15,600 46,200 —1,800 60,000

With the help of above information, The Board of Directors
has decided to discontinue the production of product "C" As
a cost Accountant your opinion is demanded. Give your
advice ? Give reasons for your answer.

OR

2 A company currently operating at 80% capacity has the 20

following profitability particulars :

Sales
Less: Cost of sales :

NCD-002-002201 ]

Rs. 12,80,000

[ Contd...



Direct materials
Direct labour
Variable overhead
Fixed overhead

Profit

Rs. 4,00,000

Rs. 1,60,000

Rs. 80,000
Rs. 5,20,000 11,60.000
Rs. 1,20,000

An export order has been received that would utilise half
the capacity of the factory. The order has either to be taken
in full and executed at 10% below the normal domestic prices
or rejected totally.
The alternative available to the Management are given

below.

ey

only, as a present.

)

Reject the order and continue with the domestic sales

Accept order, split capacity equally between overseas

and domestic sales and turn away exccess domestic
demand.

3)

maintain the present domestic sales by.
(@) Buying an equipment that will incraese capacity

by 10% and fixed cost by Rs. 40,000 and
(b) Work overtime at double times the normal rate to

meet balance of required capacity.
Prepare comparative statements of profitability and
suggest the best alternative.

Increase capacity so as to accept the export order and

3  On 31 March-2016 Virat Ltd. has purchased 8000 equity 15
shares of Rs. 10 each of Vaman Ltd. Following are the
balance sheets of both the companies.

Liablities Virat Ltd.|Vaman Ltd. | Assets Virat Ltd.|VamanLtd.

Share Capital Fixed assets 1,50,000 1,44,700

Equity share Investment in

of Rs. 10 each 3,00,000 1,00,000 | shares of

Capital Reserve 52,000 | Vaman Ltd. 1,70,000

General Reserve 25,000 5,000 | Stock 40,000 20,000

Profit & Loss alc 38,500 18,000 | Loan to Virat Ltd. 2,000

Loan from Bills receivable

Vaman Ltd. 2,100 (including Rs. 200
Bills payables from Virat Ltd 1200
(including Rs. 500 Debtors 20,000 10,000
From Virat Ltd) 1,700 | Bank balance 2,000 5,000
Creditors 17,600 5,000
3,83,200 1,81,700 3,83,200 1,81,700

Probable Liability Rs. 1000 Against bills receivable discounted

by Virat Ltd.
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Additional information is as follows :

(1) Interest due on loan given to Virat Ltd by Vaman
Rs.100 is still not credited to Profit and Loss Alc.
(2) Board of directors of Virat Ltd. has resolved that as on

31 March 2016. Fixed assets of Vaman Ltd. over valued
which need to reduce by Rs.5000.
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(@) Meaning and importance of common size financial
statement.
(b) Purpose of financial statements.

Prepare consolidated balance sheet as on
31-3-2016.
OR
3  The Balance sheets of Sanyam Ltd and Sadhu Ltd. as on 15
31-3-2016 :
Labilities Sanyam Sadhu| Assets Sanyam Sadhu
Litd. Litd. Litd. Litd.
Equity shares Building 6,00,000 | 4,00,000
each of Rs. 10 8,00,000 [ 5,00,000| Plant 2,00,000 80,000
10% pref. shares Investment in
each of Rs.100 - | 2,00,000( Eq. shares of
General reserve 1,00,000 40,000] Sadhu Ltd 3,00,000
P & L A/C 1,60,000 60,000| Investment in
10% Debentures 1,60,000 80,000| debentures of
Creditors 1,40,000 40,000 Sadhu Ltd. (F.V)) 60,000 -
QOutstanding payable Debtors 80,000 60,000
to Sanyam Ltd 20,000] Stock 60,000 | 1,60,000
Advance to
Sadhu Ltd 24,000 -
Cash & bank 36,000 | 240,000
13,60,000 | 9,40,000 13,60,000 | 9,40,000
Additional information :
(1) Sanyam Ltd has purchased 80% equity shares of sadhu
Ltd. as on 1-4-2015.
(2) Cheque of Rs. 4000 sent by Sadhu to Sanyam Ltd. on
29-3-2016 was received to Sanyam Ltd on 4-4-2016
(3) Profit of sadhu Ltd. was Rs. 40000 of the year ending
31-3-2016.
(4) There is no change in general reserve of Sadhu Ltd.
after 1-4-2015.
Prepare consolidated balance sheet as on 31-3-2016
Write notes on : 15
(@) Principle of good corporate governance.
(b) Importance of assets-liabilities management
OR
Write notes on : 15
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